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Exercise 1.2
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Exercise 1.3
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Lewis Carroll (The Rev. C.L. Dodgson)
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Karnaugh Maps
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4 atoms: 16 states: 64K subsets
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The traffic light has only four states.

the diagram shows a two-bit encoding of these
four states. If we call the two bits X and Y then
the next state logic can be given by

X'=X@YandY ==Y
and the output logic (the signals to the lights) by

R:—lx A=Y G=“XAY
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This question concerns a
different two-bit encoding
of the four states, as
shown below.

Give expressions for the next state logic
X' = Y Y’ - —lx
and the output logic

R: —'X A: X@Y G:XAY
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Karnaugh Maps
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